— Instructions:-

1. All Questions are Compulsory
2. The Question Paper consists of 31 questions, divided into 4 sections A, B, C & D.
Section A Comprises of 4 questions of 1 mark each.
Section B Comprises of 6 questions of 2 mark each.
Section C Comprises of 10 questions of 3 mark each.
Section D Comprises of 11 gquestions of 4 mark each.
3. There is no overall choice
4. Use of calculators is not permitted

SECTION- A (1 mark each)
Q1.  Find the area of an equilateral triangle whose one side is (2x) em.

02-/ Simplify (4 +v2Z) (4 - V2).

«.Ql/ In the figure, if linc p is parallel to line g, then find the value of x.
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i kﬁ‘/ I it possible to construct a triangle with length of its sides as 8cm, Tem and 4em? Give
reason for your answer.

SECTION-B (2 marks cach)
Q5. Factorise (5x — 6y)® = (6y — 72)* = (72 — 5x)* using suitable identity.

‘\95:/ Verify that g is a zero of the polynomial 6x* +x* - 10x + 3.

lﬂ{ In the adjoining figure, LM is a line parallel to the y-axis at a distance of 3 units.
(i) What are the coordinates of the points R and @ 7
(ii) What is the difference between the abscissa of the points L and M 7
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Q8. Find one rational number and one irrational number between 3.64279 and 3.6532.

[n the given figure, ZAOD = 45, #DOC = 2x, ZCOB = x + 15" and AOB is a line. Find the
value of x.

{9}/ P is a point equidistant from two lines n and m intersecting at point A. Show that the line AP
bisects the angle between them.
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SECTION- C (3 marks each)

QM. Ifbothx-2and ¥ - ;lr are factors of p(x) = qx* + 5x +1, show that g =r.
Give possible expressions for the length and breadth of a rectangle whosc area is
y? - 123y + 105,
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QU3 yf o+ 1 =5 cvaluate x3 + =
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&[’i Express 15. 7 12 in the form E,whmu p and g are integers and q # 0.

B1s. Represent v7.1 on the number line.
Qlﬁ' In the figure, POQ is a line. Ray OA is perpendicular to line PQ. OB is another ray lying
between rays OP and OA. Prove that 2 £ AOB = £ QOB - £ POB.
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& 16AB || DE, DE | FG, CD || EF, 22=55and 24 = 60", then find £1, £3 and 5.
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@ﬂ./ P{)RS is a guadrilateral T and U are points on PS and RS respectively such that PQ = RQ,
ZPOT = ZRQU and ZTQS = £UQS. Prove that QT =QU.
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@9-/ In the given figure, PR > PQ and PS bisects ZQPR. Prove that # PSR > £ PSQ.
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Q20. If a point A lies between TWo points X and Y such that XA = YA, then using Euclid’s
geomelry prove that XA = :; XY, Explain by drawing the figure.
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SECTION-D (4 marks each)
\Qﬁ{ﬂse Factor theorem to factorise fix) = x? + 6x* +11x +6.

\_9”-'-/ If A nad B be the remainders when the polynomials x* + 2x° - Sax - 7 and
x?+ ax? - 12x + 6 are divided by (x + 1) and (x - 2) respectively and 2A + B = 6, find the
value of a . -

‘Q}(H‘a1—b+c=5&ndab+b¢+-::a—'lﬂ,ﬂ:lenpmvﬂhm
a® +b* +c? -3abe= - 25

\_Qa.'ﬁ. Sanya has a piece of land which is in the shape of a rhombus. She wanlts to give one part of
land to her son and the other part to her daughter to produce crops by dividing the total land
by one of the diagonals of length 160m. If the perimeter of the land is 400m, how much area
of each ﬂfﬂmnwillgef?‘ﬂfhﬂvalueisdnpicmgbyﬁanya?




Plot points p(—2, 2), Q (-8, 2), R (—2, —6). and S(—8&, —6), on a graph. Join them in order.» ="
Name the geometrie figure ﬁmned and find its area.

Simplify [5 (85 + 27 %)3] (7292

(273
vi= V§ ; *
S perw Ak b6 where a and b are rational numbers, then find the values of
¥
a and b.
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In the given figure, AB = CF, EF = BD and £AFFE = #CBD, prove that

{i)AAFE = ACBD
(i) AE=CD
D
A
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(iii) ZFAE = ZBCD
\/é‘ In the figure, the sides AB and AC of A ABC are produced to points E and D respectively. 1f
bisectors BO aml CO of ZCBE and iECD respectively meet at point O, then prove that

£BOC=90° — - ZBAC. /\




Qﬁ1 In the figure, Q) and RS are two mirrors placed parallel to each other. An incident ray AB
strikes the mirror PQ at B, the reflected ray moves along the path BC and strikes the mirror

RS at C and again reflects back along CD. Prove that
AB || CD.
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- Q3L Pmﬂmﬁm@esm:w_tﬂwumglmandﬂmincludedsid:nfun&ﬂiang%&am
' equal to two angles and the included side of other triangle (ASA congruence rule).

LE Lt ']"[E E'N'D kkikkk
Page 4 of &




